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Stayman Homework

Part 1

In the auctions shown below the East-West pair always pass. Consider what would the
appropriate bids should be to replace the ? bids.

1 North South N E S w
A AKX A J x XX 1NT P ? P
¥ 0 x x x Y 2AJxx ?
® K x ® 0 x x x
% J x x x * x

2 North South N E S w
A AKX A QJ x X 1NT P ? P
Y0 xx YAJxx ? > ?
¢ K X X ® 0 x x x
% x x X * x

3 North South N E S w
A AKX A QJ x X iINT P ? P
Y0 xx YAJxx ? > ?
¢ K X X ¢ 0 x
% x x X % x x x

4 North South N E wW
M AKX X MO J x x 1NT P ? P
¥ 0 x x x Y 2AJxx ? P ?
¢ K b ® 0O x
* J x % x x x
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Part 2

Using Stayman over a 1NT opening.
Consider what would the appropriate bids should be to replace the ? bids.

5 South N E S w
A 10965 INT P 2C P
¥ A8 32 ? P ?
® K962
% A
6 South N E S W
A J532 INT P ?
vAJ2
¢ XK Q 10
$ K Q 4
7 South N E S W | If North bids a major what should South
A 10 8 6 4 iNT P ? bid?
¥$Y09753
P If North bids 2¢ what should South bid?
K 42
8 South N E S W
AQJ32 INT P ?
VAJ62 Explain your bid
¢ 10 4
% 6 4 3
9 South N E S W
AKX 2 1INT P ? If North bids a 2¥ what should South bid
¢ A0 If North bids 24 what should South bid?
% K Q5 4




